
262277

HBS0003-012
HWS0010-375

W114904

W114903

HWS0003-375

HNS0001-375

ITEM 
NO. PART NUMBER DESCRIPTION S4812304 /QTY.

1 W114903 PIPE ASSY, 2.5", DRIVER-SIDE TAIL 1
2 W114904 PIPE ASSY, 2.5", PASSENGER-SIDE TAIL 1
3 262277 GASKET 2 BOLT 2.5" 2
4 HBS0003-012 BOLT, HEX, 3/8-16 X 1 1/2", GR5, ZN 4
5 HNS0001-375 NUT HEX 3/8" GR5 ZN 4
6 HWS0010-375 WASHER, FLAT 3/8 SAE (13/16 OD) ZN  4
7 HWS0003-375 WASHER, LOCKING, 3/8, ZN 4

2020-UP SUBARU OUTBACK XT/WILDERNESS, 2.4L TURBO, 
AXLE-BACK, 2.5" DUAL REAR

December 8, 2022
REV:A

S4812304


	S4812304
	Drawing View1


